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DOS : Dynamic
response computation

Number of participants: 14
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In order to compute the dynamic
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5 The modal response in the frequency
* domain is computed

using a convolution
between the
impulse response
and the modal
force

analytically as a
function of the
modal properties
(mass, stiffness,
damping) and the
modal force

G 27%

using a numerical
integration scheme

-l 9%

3 The modal response in the time
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using a convolution
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4 What are the ways to introduce
* damping in the model ?

3 respondents

We can introduire it in different ways : Based on the mass and stiffness (to decouple

the equation) Rayleigh
Rayleigh

C matrix

For a MDOF system, with damping
modeled using a loss factor, after a

P * certain time, the impulse response is
dominated by

the last mode | 9%
° the first mode G 73%

a combination of all
the modes

Gl 18%
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For base excitation problems (such
| 6. as earthquakes), the modal force is
given by

9 correct answers
out of 10 respondents

the total mass of
the structure

multiplied by the - 10% 1 vote
ground acceleration

the mass of the

base of the

structure multiplied 0% 0 votes

by the ground
acceleration

the modal
acceleration factor
which is a function

of the mass matrix
@ 20%
0 and the mode 9 votes
shape considered
multiplied with the

ground acceleration

https://app.wooclap.com/events/RPNFZG/results 6/6



